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Time Allowed : 3 Hours ] [Maximum Marks : 150
Sdleyeny : (1) Swarsg farmssEnd slurs udeurd e dreTgm 6remUge e

sfluriggls Qarareralb. FsuLeld G@mpuiGLder sonsd
saEmsTaliuTerflLibd 2 Largursd Qgfleillssea|n.

2) Beob dog sHUY @wlomear LLHGWL TWEUSHED,
Slq5CsT QausH@L LuaLBEs Ceuam@ib. LIS eiamresna
Quenfléd LweTL(HSSaLD. (

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@&S) - 1I/PART -1

@l : @) Sewensgl elamssErsE ol wefléaayb. 30x1=30
@) eflwrer eflerLerwid CsTHOSHSS 6T(PSELD.

Note : (i) Answer all the questions.

(i) Choose and write the correct answer.
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1. @m salwsdear Cobler sfisdr, Quuianafls Hleap Fipwrawraiuio @
Caupul L sapsmers Compmiedsdeamen. @bs Chibdler owelsar :
(=t) @Gy ﬁmmmm Gougui L HlansCeussansb Csremriy(HeEL0D
(@) $C7 Hleop wipid Hevs Caisenss AsramsHHED
(@) Ceugu L Hlevp wHmib @G Hens @masgmg,és Q& TamTig (5 G LD
| () Cagul L Hleop whmibd Heovs Cousgmss Clamamiq HEHEGLD

Positive rays of the same element produce two different traces in a Bainbridge mass
spectrometer. The positive ions have :

(a) same mass with different velocity
(b) same mass with same velocity
() different mass with same velocity

(d)  different mass with different velocity

2.  @m 2 darefRs@En sflwurs @ma@n Curgl wi (GG Ceuelwi® wHly 1" <66
HeoLsEh ergls Cal -
(1) OR (<) NAND (@) EXOR () NOR
The Logic gate for which the output is ¥', only when both the inputs are ‘0’ is :
(@) OR (b) * NAND () EXOR ' (d NOR

3. @@ ydtef Wenayr L kger, &,=6 QaramL 2aml_s58ld, d Ggraeeien Gfsg
MaussILDeFTD 2 Haurgh o Waalud efas 0.3 N . Qeupdlgéla
<G5 Qsroeeld WA @ausslulLrd JDOBGE@ILLESE@SE
Qe Cuwrar edlens : g B R

(<1) 20 N C(=)05N (@) 18N (m) 2N

The electrostatic force between two point charges kept at a distance ‘d" apart, in a
medium € =6, is 0.3 N. The force between them at the same separation in vacuum -
is: ‘

@) 20N (b) 05N € 18N d 2N
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@m yerell BemgrlLmiser +4q wHmb +q 30 cm dgreoead Gfss
MausslILl(HeTerar ojbblararlLhsmar @amans@Gh GCsmiger W
eriyerefluded Wemed SPlLT@n?

(1) Blemai L +q mbs 15 cm

(<) Bleremri L b +q dGHg 7.5 cm

(@) Wergm' L b +4q d(HHg 20 cm

() Wemeprl L b +q SlHHG 5 cm

Two point charges +4q and +q are placed 30 cm apart. At what pomt on the line
joining them the electric field is zero ?

(@) 15 cm from the charge +q
(b) 7.5 cm from the charge +q
(¢) 20 cm from the charge +4q
(d) 5 cm from the charge +q

£Cip srapib UL 58 A, B Letafla@ssE Qe Cu Ogr@uwen langenLwirang)

20 30
ANV VW
Ae— ———eB
e ANAA
50
(1) 25 Q- ()00 - (@) 040 () 110

The effective resistance between points A and B in the given network is : -

20 30

‘ AMAA ANAAA
Ae— | v —— B
AVVVA
. 50
(@) 250 by 10Q (9 0490 d 110
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4
s019& smaller QooHs HpFspMsEE WaGarlt dogl Lrué Gewluyyb
wrpdeos Wearaflupdluler o miin :
(S1) HO&STHSWD : (<) emey LI L GUeneTIIBISET
(©) BHey GUEETIIBIGET () grflenssar

The part of the AC generator that passes the current from the coil to the external
circuit is: ’

(a) field magnet (b) splitrings
(c) sliprings (d) brushes

Sl@miaHedle éu__r'rg_}';eﬁés@m LTS FESSl e @{Lfrg,ﬁé;@m 2 @Ter e4HIHLD FOTTrs; :
(=) 1.3x1010 (<=1) 1.3 (@) 1.3% 1013 (/) 1.3x10%

The ratio of nuclear density to the density of mercury is about :

(a) 1.3x1010 (b) 1.3 () 13x1013 (d) 1.3x104

oHg1 B+ X ,0Au'%+ Hl erenm amissm efevarnuid X erarugl ergeamed
GHISEED? |
(=) yGrrlirmer (<)) eresLyme (@) Bl ymen (FF) gL ymen
In the nuclear reaction gyHg!?® +X— soAu!®+ H1, X stands for :

(a) proton (b) electron () neutron (d) deutron

@@ Qauliu WerafyenLullem @&ﬂr’r&ﬁ;ﬁuﬁidﬂ Qeutiu Hlaveant dlasM&EEw
Qurps! (e Sy Geuliu HlenasE Gopeirs) Ul Gleutiu Hleneoulieo
&HLLTeng): .

(@) 2fsflsen () @epyd

(8) wrprg (7) psdildr Siflallgg Kemy Gopun

In a thermocouple, when the temperature of cold junction is increased (but less than
neutral temperature) the temperature of inversion : ’

(a) increases (b) decreases

(c) does not change (d) first increases and then decreases



10.

11.

12.

13.

5 6228

@@ Aeeullwunil ereaTug)

(<=1) Werani L b o GreT e QLmEE

(<) ac- enwl de U,OMEOTS OIHMILD SjeOLOLIL]
(@) Ceulprammd e, CUmSHCUL oG
(r) Negnrl L 1b @S e(h Qu@éséﬁl

An oscillator is :

(a) an amplifier with feedback

(b) converter of a.c. to d.c. energy

(c) nothing but an amplifier

(d) an amplifier without feedback

AL 6T Samienal 2y [HleneudledlmHs) Ferrgflursss CHemeurear Gmnhs
ULE < ppe (Sideg) (psd SHerreslurss Wleamanpds <nme
(1) 13.6 eV (<=5) 102 eV (@) 34eV (%) 1.89eV

The first excitation potential energy or the minimum energy required to excite the
hydrogen atom from ground state :

(3) 13.6 eV b) 102 eV (© 34eV (@) 189 eV

&1pd SewTL_6UDHMIET Grgj HenaETHS 2iened @ebsmu’?:

(=) X - sSlrger , (<) v - BTN SFHiT&EeT

(@) up eagr sdlisar (UV sdliser) (rF) B- sfliser (LT sdliser)
Which one of ﬁle following is not an electromagnetic wave ?

(@ X - rays | (b) y-rays

(c) Ultra Violet rays (UV rays) (d) B -rays

emanl rmer samieild e Guwresaile ardd QUL emaberid
Caremmib?
()21 ()41 (@) 65 (FF) 52

In hydrogen atom, which of the following transitions produces spectral line of maximum
wavelength ?

@ 2-1 b 451 © 6—5 d 5-2
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14.

15.

16.

6 .

Frran WlamosHed, Losdh@ @amamurs, eigen i SIEHWWJDT ¢(H Lol
Qe mesSILILLITD, g 2 amioug) :

(=1) Qorgs elensenw WL ([Hib

(=) Ly elevgenw L HIbd

(8) Cwrgs elens LHMID HHLY lens @rammenLuLb

(FF) Gorgs eflenswyib eidw, Hmiy ellerdwbd e

A dipole is placed in a uniform electric field, with its axis parallel to the f1e1d it
experiences :

(a) only a net force

(b) only a torque

(c)  both a net force and torque

(d) neither a net force nor a torque

RO S Wengramy LLOGCW 2 amrw wrndos L&m&mgﬂ@ 6T 5 Gleum(m
samSElQIDd 2 eter BlanGanmLLb i=Ijsinwt erafle) eTBEQoums SanTgaid o erer
Blanaflwuge elenswrang : '

(éi)e=Eosin(wt+§) | (c"glp)E=EQSin(wt—g)

(®)) e=E, sin (ot—m) / () e=E, sin (ot+m)

The instantaneous current in an AC circuit containing a pure inductor is i=Isinwt.
The instantaneous emf is :

@ e=E°Sin(“-’”g)' | ®) = Eosin(ot- 7]

© e;EOmn@g—w) (@ e=Eysin (wt+m)

G@_n)rrCSmrraﬂlrrrlﬁl (yms)g)uﬂla) ﬁgga;assml_mmﬁeu a6l UL Famafle ugleu
Qewnwuiu@®iw?

(1) eS&mD ofTCeuamam b (=) sLLpid. é@ﬁ@@@ﬁﬂ@)@
(®) s eSéaid ' () oié&, sl ib HYID <i8iTCeuemT
In holography, which of the followmg are recorded-on the photographic film ?
(@) amplitude and frequency (b) phase and frequency

() phase and amplitude (d) amplitude, phase and frequency .




ll‘g%WMGQDu&@:

18.

19.

(éﬁfﬁ=%t (<) H=V2Rt (@) H=VIt oﬂ H=IR%

Joule’s law of heating is :

(a) H=g¢ (b)) H=V2Rt (c) H=VIt (d) H=IR?

6 nC llar@rLgamg @@ YarelWadmbs wHQpremp UdatellsE BaTss
Aenwiin@w Geame 1.2x107°] eaafid, lydaalsEpsE @l Cu
Wemen(pss Coumim® eretmes?

(<) 6V (@)2V (@) 12V (m) 72V

The work done in moving 6 pC charge between two points is 1.2x10~5]. Find the
potential difference between two points : ©

@ 6V ® 2V © 12V @ 72V

Blensrhs enaseflen, oLmme :

(<= 1) Baresdh@n wpmid a;rr‘r_r;g;uqevgﬁg)@m @Cr SjeToursL uuma‘;]aﬁmm

(<) Q® YomIHEhd @D Qamgg,g,lra;u ul;rméﬂmg)arr
(8) Beryegdd urejdng

4(rr) STHSL Logded Lre]fps

In an elecfr’omagnétic wave :

(a) power is equally transferred along the electric and magnetic fields.
(b) power is transmitted in a direction perpendicular to both the fields.
(c) power is transmitted along electric field.

(d) power is transmitted along magnetic field.

6228
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20. @ailaurm FlLsmsub Qrand Yomsarsl NG5 @ Qesar(HéE
50 sriflsemer ieniliLjeuger CHTESLD
(1) uLgde AL s seiliss
() 2Wipg AFlTCeuamTEmETS: MESWITEREUS eTaflgl eTaTLISTe)
(@) 50 Hz eremuig @Qudurefled WerarTHHD 2e)iis el e -3 i e e
TG LISTE '
(rF) emsensulled 2 atar GCoaveuuiders Qamrssasmer bés
The purpose of dividing each frame into two fields so as to transmit 50 views of the
picture per second is :
(a) to avoid flicker in the picture
(b) the fact that handling of higher frequencies is easier
(c) that 50 Hz is the power line frequency in India
(d) to avoid unwanted noises in the signals

21. safss Hluylrrefler eﬂemgm Lom 6ol L GLD.
(1) 0.013 Bflid~1 (<=4) 0.053 HldlL_1b~1
(@) 3 PiLrmigar (rF) 0.069 HILAL1b~1
The decay constant of a free neutron is : -

{a) 0.013 minute~1 (b) 0.053 minute 1
() 3 minutes (d) 0.069 minute ™!

22. eGammég smiy HApliy euenyuiied en_Cuir® QewudLBeug :
(=) @@ 2w WenganLwirs (<=1) @@ L_nSlsiergpéaﬁqurés
(@) @® Bniggl (OFF) selllsrs () @@ Qwse (ON) selll srs:
In the forward bias characteristic curve, a diode appears as :
(a) a high resistance (b) a capacitor
(¢) an OFF switch . (d) an ON switch-

23. a@;rj)g)mﬂ epeSHlem e

(S1) SIvE Qower (<) B LT (metre)
(@) Bi~1 (metre™1) (FF) &M (degree)
‘The unit of grating element is :

(a) no unit ; (b) metre

(c) metre”1 (d) degree




24.

25.

26.

27.
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SifiGauei LaTGLHIPSHE, sarid Simeudern ofTGoudm Sienaaiian (carrier
swing) FsULE wHLreng)

(<) 455 kHz (<) 10.7 MHz (@) 75 kHz () 150 kHz
The maximum carrier swing allowed in frequency modulation is :

(a) 455 kHz () 107 MHz . (¢) 75KkHz (d) 150 kHz
Curfer Qararosu@ar Ly GO L salssaflwrar wHULsmers Qumid

6T

(=) Qués Hma (=) Blever < pped

(@) Garam 2 p5id (7)) egppd S
According to Bohr's postulates, which of the following quantities take discrete values ?
(a) Kinetic energy - (b) Potential energy

(c) Angular momentum (d) Momentum

2 A emaferd Qerar erasl yrafler o b.

(<=1) 33x10% kgms ™1 ’ (<) 6.6 %102 kgms™1
(@) 33%x102* kgms ™! () 6.6Xx107% kgms™1
The momentum of the electron having wavelength 2 Ais:

(@) 33x10% kgms~1 (b) 6.6x10% kgms ™!
(c) 33%x1072% kgms™1 (d) 6.6x1072 kgms~!

grQuadenly., @QuEssSadrer sarriqen Herbd :

(él) Heveowirs o drer Curgl @mps HodHnEGE Foib
<,) Bleneouiie o erer Cgurrg,j Qmbs Bersms el HGLOTE A@LL|D
8) Hoewrs o drer Gurg Qmis Berdeans el @Gmpeurs SEWLD

| (rr) semgar Coussmsts Qurnsgl, Hamowrs o drer CUTS) @@‘r_ﬁg ;_%errg,smg,

AL @fswrsCaur oag Gmpeaursbar Sveg FwwrsGeur
< LDW|LD.

According to relativity, the length of arod in motion :

(a) is same as its rest length

(b) is more than its rest length

(c) isless than its rest length

(d) may be more or less than or equal to rest length depending on the speed of the
rod

[ Hmlus / Turn over
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28.

29.

10
Qeveren 6l _ cllgludle éllq_EJLIGK)LUJWGUT@ :
(=) e L 2 iledlemenio (=) umu Sjifleflenenio
(@) 255 <ifefarento () <poad <ifeilenemio
Lenz’s law is in accordance with the law of :
(a) Conservation of charges (b) Conservation of flux
(c) Conservation of momentum - (d) Conservation of energy

Qumrwer eflleerefler LG aHMar amabard 5890 A erafléd evGLTEeD WHDID
< erigevGLrsen euflseaflen ameBerhiger wpapGw :

(1) 5885 A wpmb 5880 A (<) 5895 A wpmib 5900 A

(@) 5885 A wpmib 5895 A (rF) 5895 A wpmib 5885 A

In Raman effect, wavelength of incident light is 5890 A. The wavelength of stokes and
antistokes lines are respectively : ’

(a) 5885 A and 5880 A (b) 5895 A and 5900 A

30.

(c) 5885 A and 5895 A (d) 5895 A and 5885 A

@@ Gsrir RLC wrpflens Waranhle, sdHomeal :rf;]am)uﬁ]ei) ;

(=) WergenL. Fi

(=) Gasr@uwer WeamomLiL] &

(8) WenGlendliriiy QugpioLd

() Wesram(pssd WlenCarr Lgens el % sLLIb (penGearrsdl @) (m&ELd

In RLC series AC circuit at resonance :

(@) Resistance is zero
(b)  Net reactance is zero

(c) impedance is maximum

m

(d) voltage leads the current by a phase angle >
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L& - II/PART - II

@Oty aeaCuah uSlemerbg ellamss@ErsE el warf. 15x3=45
Note : Answer any fifteen questions. -‘
31. e Gaadluden LwTLTHSMET 6T(LHSIS.

32.

33.

34,

35.

36.

37.

38.

What are the applications of capacitors ?

wieedeor el WergrLid, 2 cm Ggrevweied 9x10* NC™1 Wearyaosos
o meur&@HDg crafled Wengym L Ber SLisHenws sansdl(Hs. |

An infinite line charge produces a field of 9x 104 NC~1 at a distance of 2 cm. “Calculate
the linear charge density.

WeGan L S TEHenil uenTin). DSET D@ Wrg|?

Define current density ? Give its unit.

0°C @& Garrlgerd sLEWer WeargemL 4 @ Wearrgardder WargenL

Qeutiuflenad eraisr 0.0038/°C ereriiéy 100°C & HiGufen WlengenL . eremen?

The resistance of a platinum wire at 0°C is 4 2. What will be the resistance of the wire
at 100°C if the temperature coefficient of resistance of platinum is 0.0038/°C ? ‘

WpseeL s HmD gamarier seoeasaliarn Coupumr® SHas.
Distinguish between primary cell and secondary cell.
GLamgen allFlepwid snmis.

State tangent law.

6T STBSE SNeTL > GTETDTED) Greman?

What is electromagnetic induction ?

11,000 W lardlmar, 220 V leiran(psssdied ieitiuiulLme Geulin SHpers
wrob Hner QulienLds samssHs.

Calculate the power loss in the form of heat when a power of 11,000 W' is transmitted
at 220 V. ' ‘

[ HmLiys / Turn over
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39.

40.

41.

42.

43.

44.

45;

46.

47.

12

Qeuafleli( Hiporene, 2 L gall HPOTene ETEmTEL 6Teme?

What are emission and absorption spectra ?

BILLL L 6T GUENGTIIBIGET6 enLDUID SH(HEDLDIINS DENLOWIS STTERTLD Wimg)?

Why the centre of Newton's rings is dark ?

Cavair sflitsaflen w@mSHieIll Lwasafe erepeuGuignld epemdlened Fnmis.

Write any three uses of Laser in medical field.

Faelllg) @GLmil getm 24,800 V Wlenanpsssdler euduBEng. @g,rrmgul_o
X sSlrseflen CLmL HlTbleuar eremen?

A Coolidge tube operates at 24,800 V. What is the maxunum frequency of X-radiation
errutted from Coolidge tube ? .

Greuésl;crncirr BlarGanrraEluden LILIEnSeT epemplene 6T (Lpgis.

Write three uses of electron microscope.

B - sflitseflan Lammsafld eraneuCGugnid ppamlanen eT(psis.

Write any three properties of B rays.

Hlepmel(p Gremmmed eTemen? .

What is mass defect ? ‘ - e e e -y

gafl 2.101p en_CGuim. (LED) eraipmed eremen? e @GOIUI(H) eremmen?
What is Light Emitting Diode (LED) ? Give its symbol.

DDOESERESETET LITCsemFen HlUbSmaIEET WTenel?

Give the Barkhausen conditions for oscillation.



48.

49.

50.

13 6228
QumGHUGET LILenL DHELD GTETDTE) GTEIen?

Define bandwidth of an arhp]i'ﬁer.

LL e srL Ll Herer eregls snoipsrear Lellwerm swerumh wrg? A=1,
B=1 wpmd C=1 ereand Qaram® Qeuafuiien & sarsdlHs.

What is the Boolean expression for the logic diagram shown in flgure Evaluate its
output if A=1, B=1, C=1

=D
coP>o

Qewnamss Carer gaeud QsTLTder pereniosaertied arenauGLgD ppendlenan
GT(LPSIS. '

Write any three merits of satellite communication. -

L@ - II/PART - III

@Ol : @) eflan erair 59 &@é HewqliLTg eflaniwafEsayb. B 7x5=35

Note :

51.

i) dseperar 11 ellarrssafie eranau Cugy b c%gj 'éﬁl'écfrfé;s;@é;@
enL_weflss Couart@Hi.

(i) CseeuliL@L @LEiseafld LILRs6T eimTs.

(i) Answer to question no. 59 is compulsorily.

() Answer any six of the remaining 11 questions.

(iii) Draw diagrams wherever necessary.

@@ yaraflude WNerarpssd auamrum @ Lerafl L&m@m_l_g,g,rra) R
Lerafuded erpu@d Wararipsssdnarar Caramaiamull QUDIS.

Define electric potential at a pomt Obtain an expressmn for electric potential at a
point due to a point charge.

[ Hmlys / Tumn over
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52.

53.

14

coLmrGLullen WenmammpL@SSedlen @reanrLmid ellflenws sl Carsanen epeid
BlenA5s.

State and verify Faraday’s second law of electrolysis through an experiment.

OlETHHN CUMEEHESTE Hifdge.l) leman(pss ellHuleneand sl ellemd@s.

~ State and explain kirchhoff’s voltage law for electrical networks.

54.

sroMle 10 cm @evLQesafludiedy 5 m Berperer @ sLsHser Qevenrins
assliLlererar. @ramgaib @Cr eralarear WerCarriL b, @Gy

- Hevsulle umybCurg) 3.6 x1074 N seurgs aNens QUL Lrd, sL_SSudle

55.

56.

57.

umyd WearGarmmlLBismerd sansd (Hs.

Two parallel wires each of length 5 m are placed at a distance of 10 cm apart in air.
They carry equal currents along the same direction and experience a mutually attractive

force of 3.6x10 "% N. Find the current through the conductors.

Qm Bear_ aufémmars@rsE Qe Guuwirar urﬂLDrrg)gu 1) 6ot g,nmn_ev

cramanfipaTen FwarUm el GlLms.

Obtain an expression for the coefficient of mutual induction between two long solenoids. -

v

wia @rlent i bereys Cergenenuilar @ eflud ppomsaier Caple) alldgnd

81 : 1 ¢rafled Qum wHmid Apiod Qedejseilen alfsd eremen?

In Young's double slit experiment, the intensity ratio of two coherent sources is 81': 1.
Calculate the ratio between maximum and minimum intensities.

aant reaflen Hipwrae eauflassamer efleuf (cuenFuL LD Gg,@muﬂ]cifma)).

- Explain the spectral series of hydrogen atom (diagram is not necessary).

58.

geflflangearsaiien LI EheT erGCaaild smbdlener 6r(ps)s.

Write any five applications ‘of photoelectric cell.



59.

60.

61.

62.

15 6228

uUeybflaoulld 2 drar g liararyre samsdL U@ sre Gl Gleuaf
25%x1078. V=0.73C erarp SHwsCoussded QUBIEGD < UeUTeTyTed
sasSLILGL s @enGeefl wirg?

' 3160608
o GarsliLrliy geanm 3333 A oieafer @aflurd gefluwt L ULEDL Curg s
0.6 eV aueny <Hme CararL. sraslrrarsamer Ceuafelhdeammgl. o Corssder
QeuelCuDm DDMOE HesHd (Hs.

The time interval measured by an observer at rest is 25x10~8s. What is the time
interval as measured by an observer moving with a velocity V=0.73C ?

OR

A metallic surface when illuminated with light of wavelength 3333 A emits electrons
with energies upto 0.6 eV. Calculate the work function of the metal.

QenaniiL] Hoed alenerGaTLIg H&Ten Qﬂ@ﬁ&&gmg,g, ;_I,@as (uenyuL_LD
Caeneuudlcvene) ~
Explain the binding energy curve (graph is not necessary).

@@ QEudur B QLI@ayéﬂuﬁlm m&ﬂ@m@’r (Pin-out) Qmaﬂuﬁ@ Sjemwliemu -
UL alerhgl eflerdEs. .
Explain the pin-out configuration of an operational amplifier thh the diagram.

@iQaiar LaTCUDDSHET HeTenoseT LHOID GEDUTGSET WTael? N
What are the advantages and disadvantages of Frequency Modulation ?

UGS - IV/PART -1V

GOy : () ereveuCuigid Bres @ elaTss@hsaE elenLwiafl. 7 4x10=40

Note :

63.

(ii) Gg)m@_luu@m GLBigafled LILBISET unrs.
(i) Answer any four questions in detail. '
- (i) Draw diagrams wherever necessary.

srev Ndows mmns. Qsmar uwau@sH Frrer Wererl L LGS
QarawrL. wpgefeor Beiri @murrm asl_g,gluﬁlarrrr@) gou@ Wer asShamer
Garencuenwils CQumis.

State Gauss's law. Using this, derive an expression for electric field due to an mflmtely
long straight charged wire with uniform charge density.

[ &mLiys / Turn over
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64.

65.

66.

67.

68.

69..

70.

16

sThsLLosS@erer WatGarmlLid uryb sLgduller Bg Qeweu®bd
Aevsssrear Caraeudamans Qumps. elesuder eram wHLG@arn Cups. |

Derive an expression for the force on a current carrying conductor placed in a magnetic
field. Find the magnitude of the force. '

srw L&mgnemq LLHCL 2oLw @@ wLIMHms WBearsHHe
NerGarri_ Lfpsrar swarurloLs smel. Warapssd wHmb
BearGarriLsdnE @oLCu oder s L5 GsTLiomUE sTaNs. $GEHS
QUENTULLD aUanfs. '

Obtain an expression for the current in an AC circuit containing a pure inductance

only. Find the phase relationship between voltage and current. Draw the necessary
graph.

smas Qsraraslanly @ s adArraiumu darégs. (W s
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On the basis of wave theory explain total mternal reflection. Write the conditions for
total internal reflection to take place.
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Describe J.J. Thomson’s method for determining the specific charge of an electron.
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What is a nuclear reactor ? Explain the functions of (i) moderator (ii) control rods and
(m) neutron reflector. Mentlon two uses of a nuclear reactor (diagram not necessary).
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With a neat circuit diagram, explain the working of a bélhgle stage CE amphfler Draw
the frequency response ctirve.

LU ggle &g;@ﬁ]@l_e;b‘r ssdl 9NE@ED AM gndudler (Superheterodyne
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With the help of a block diagram, explain the function of superheterodyne AM receiver.
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